0001

PROGRAM Tracking

0002 VAR

0003 RTC: RTC_GET_TIME;

0004 ZonPos: SUN_POS;

0005 latHHW: LREAL := 52.95; (* Latitude Heerhugowaard = 52 graden 57 min 0 sec *)
0006 SunPosPuls: BLINK;

0007 lonHHW: LREAL := 4.85; (* Longitude Heerhugowaard = 4 graden 51 min 0 sec *)
0008 AzimuthOffset: LREAL := 0; (* offset of the mechanical drive system in Azimuth axis *)
0009 Azimuth: LREAL;

0010 ElevationOffset: LREAL := 0; (* offset of the mechanical drive system in Elevation axis *)
0011 Elevation: LREAL;

0012 |[END_VAR

0001

Read the rtc 1sec every 10seconds

SunPosPuls rtc
BLINK RTC_GET_TIME
TRUE-ENABLE ouT EN DONE+—
T#10SHTIMELOW  [L:a1 ERR—
T#1SHTIMEHIGH |~ ¢ ERNO+—
TIMES|—
MSEC|—

0002

0003

Convert the local time to the universal time and calculate the sun position.
Based on Oscat library basic V3.33 downloaded at 19-02-2013.

RTC.TIMES—LTIME
switchO—DST
60 TIME_ZONE_O

LTIME_TO_UTC
latHHW—

lonHHW-
FFSET

ZonPos
SUN_POS
latitude B—
longitude Hi—
utc HR{—

If the mechanics of the drive system has a offset you can calculate with it.

ADD
ZonPos.B—|
AzimuthOffset—|

Azimuth

0004

If the mechanics of the drive system has a offset you can calculate with it.

ADD

ZonPos.HR— ———Elevation

ElevationOffset—




